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Symbol Nr nici KrzyŜyki Motki Motki Motki
2 nitki 3 nitki 6 nitek

 Ariadna (nowa) 1500 118 1 1 1

 Ariadna (nowa) 1507 38 1 1 1

 Ariadna (nowa) 1521 63 1 1 1

 Ariadna (nowa) 1539 476 1 1 1

 Ariadna (nowa) 1540 215 1 1 1

 Ariadna (nowa) 1543 221 1 1 1

 Ariadna (nowa) 1544 165 1 1 1

 Ariadna (nowa) 1549 134 1 1 1

 Ariadna (nowa) 1550 122 1 1 1

 Ariadna (nowa) 1556 0 1 1 1

 Ariadna (nowa) 1559 94 1 1 1

 Ariadna (nowa) 1562 324 1 1 1

 Ariadna (nowa) 1760 1280 1 1 2

 Ariadna (nowa) 1819 4232 2 3 6

Lampka z lilią


